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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76-  The brain can record a large amount of information. But ——— goes into the brain is forgotten.

1) some of the information which 2) information, some of that
3) when some of the information 4) some information
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77- Long ago in Egypt, men learned ---------- sheets of paper from papyrus. They used the
sheet to write on.
1)and even made  2) what was made  3) that making 4) how to make

78- 1In fact, we may lose completely conscious memory of very important events ---------
painful for us.

1) if they are difficult or 2) that they are difficult and
3) because in difficulties are 4) are so difficult that
79- Some new words that aren't so useful may be forgotten soon. The world is changing all
the time, ------—-- 3
1) neither do words ‘ 2) but words do not
3) so are words 4) and words too
80- Computers can almost be used in any field of activity. No one can ------—- their influence
and importance.
1) realize 2) deny 3) switch 4) endeavor

81- After twenty years, he could find his brother. He wanted to say "hello” to him. He
couldn't because he was very ----—----——- 3

1) amusing 2) painful 3) excited 4) serious

82- Psychologists believe that forgetting does not occur at an even ---------—- . It is rapid at
first, then slows down.
1) ability 2) scene 3) degree 4) pace

83- The Olympic Games first started in Greece. These games were held on the plains of
Olympia, and were ---------- religious celebrations.
1) properly 2) recently 3) basically 4) individually

84- Overlearning is saying something (a poem for example) over and over again. This makes
it —=mmmmmeee in the mind.
1) handle 2) stick 3) organize 4) enter

85- We have to understand that any ----------= needs different services and all jobs are
important and useful.
1) team 2) observation 3) viewer 4) society

86- The central computer of an airline is -----=—- busy sending and receiving information to
and from offices and airports around the world.
1) constantly 2) physically 3) responsibly 4) immediately

87- ‘Does Nahid like the film about the sun and the stars?’ ‘Yes, she is really ---—-—----

scientific subjects.’
1) ashamed of 2) interested in 3) similar to 4) honest about

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Reality for human beings is not action or feeling but meaning. Humans are

(88) ——---mmmmme-- ; a symbol is anything that carries a particular meaning (89) -----------
the people who share culture. A whistle, a wall of graffiti, a flashing red light, a fist
raised in the air—all serve as symbols. We see the human (90) -------------- to create
and manipulate symbols in the various ways a simple wink of the eye can
(91) ----mmmmmmm- , understanding, or insult. We are (92) -------------- on our culture's
symbols that we take them for granted.

88- 1) symbolic creatures 2) creatures' symbols
3) the creation of symbols 4) created to symbolize

89- 1) recognizes 2) recognized by 3) recognizing as 4) which recognizes

90- 1) purpose 2) excitement 3) capacity 4) pride



18 Axae s %] N O

91-

92-

1) convey interesting 2) interest and convey
3) interestingly convey 4) convey interest

1) very dependable 2) so dependent

3) too dependent 4) to depend very much

PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

93-

94-

95-

PASSAGE 1:
In this brilliant and innovative documentary, director Morgan Spurlock decided to test

McDonald’s claim that their food is "good for you." The idea came to him after
reading about two fast-food loving New York teenagers who sued McDonald's as the
source of their weight problem. He would film himself as he carried out an
experiment, which consisted of living for 30 days on a strict diet of fast food. The rules
were simple: he had to eat three meals a day at McDonald's, he had to try everything
on the menu at least once, and he always had to "super-size" his meal if asked.

Before starting his diet, Morgan had a comprehensive medical exam—he was in
very good shape—and the doctors predicted that the diet would have little effect on his
young, healthy body. But checkups during the experiment proved them wrong: he
gained 30 pounds (13.5 kg), his cholesterol soared and after three weeks, one doctor
was seriously concerned about the state of his liver.

One could object that no reasonable person would eat all his meals at McDonald's,
which is true, of course, but not entirely. Many people eat at fast-food restaurants
every week, if not several times a week; since these placeswoffer a quick, relatively
cheap meal. Even at that frequency, these meals are far from healthy. The typical order
of Big Mac, medium French fries, and strawberry shake includes almost as many
calories as most.people should eat in a whole day, according to national nutritional
guidelines. Furthermore, a meal like that contains a high percentage of saturated fat
and very high levels of sodium. True, it might be possible to order a more healthy
meal: a small, plain burger, for example, with a diet soda and a small French fries, but
how many customers actually choose meals like this?

Why does the author mention two teenagers in paragraph 1?

1) To show what motivated a director to make a particular program

2) To point out that fast food can lead to weight gain

3) To suggest that McDonald's must offer more healthful meals

4) To introduce a documentary about a well-known director

According to the passage, the rules of the experiment ---------- .

1) had to be followed a whole month

2) did not allow Morgan to try new recipes

3) allowed Morgan to supersize into obesity

4) dictated supersizing the meal in any circumstance

Which of the following best describes the function of the underlined sentence in paragraph 2?

1) It indicates that people are unlikely to make a connection between the meal they
have and a subsequent illness.

2) It prevents a wrong generalization.

3) It supports a claim that doctors had made before an experiment.

4) It explains what resulted from an experiment.

—e
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96-

97-

98-

99-

100-

Which of the following statements can be inferred from the last paragraph?

1) Chain fast food restaurants often know how many people they should serve every week.
2) Few people order simple foods at fast food restaurants.

3) National nutritional guidelines are not as helpful as they must be.

4) Many people's diet is restricted to fast food.

PASSAGE 2:

The harmful side of the Internet's impact is obvious but statistically less important than
many would guess. People naturally write fewer letters when they can send e-mail
messages. To leaf through a box of old paper correspondence is to know what has been lost
in this shift: the pretty stamps, the varying look and feel of handwritten and typed
correspondence, the tangible object that was once in the sender's hands. To stay in instant
touch with parents, children and colleagues around the world is to know what's been gained.

But even before e-mail, personal letters had shrunk to a tiny share of the flow. As a
consultant, Fouad H. Nader, wrote in a Pitney Bowes study, personal mail had “long
ago been reduced to a minimum with the proliferation of telephone services in the last
50 years.”

Personal letters of all sorts, called “housechold to houschold” correspondence,
account for less than 1 percent of the 100 billion pieces of first-class mail that the
Postal Service handles each year. Most of that personal mail consists of greeting cards,
invitations, announcements, and other mail with “emotional content,” a category that is
generally holding its own.

The same higher-income households that rely the most'on e-mail correspondence
also send and receive the most letters. Whatever shrinkage e-mail has caused in
personal correspondence, it 1s not likely to do much more.

Which of the following statements best describes the function of the underlined sentence
in paragraph 1?

1) It changes the focus of the discussion in the paragraph.

2) Tt strengthens an argumentpresented in the preceding sentence.

3) It makes a list of some groups of people who benefit from the Internet.

4) It describes one advantage of the Internet.

According to the passage, what has happened over the past fifty years?

1) Email has effectively replaced the telephone.

2) Household to household correspondence has declined dramatically.

3) People have chosen email as the best way of keeping in touch.

4) Telephone companies have provided more specialized services for the public.
According to the passage, which of the following is likely true regarding emotional
letters?

1) They are sent and received as frequently as invitations and announcements.

2) They became obsolete soon after the invention of the telephone.

3) They are still in a strong position.

4) They will never fall out of fashion.

The author has used all of the following methods to develop the points in the passage
EXCEPT s-susesess :

1) narration 2) contrast 3) quotation 4) quantification
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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

101- Max was on the point of saying goodbye to everyone --------------- an attractive girl
looking across the room at him.
1) so noticed suddenly 2) who suddenly noticed
3) when he suddenly noticed 4) until he was noticed suddenly
102- The board --------------- that no money will be available.
1) has made it clear 2) it has made clear
3) has clearly made it 4) it clearly has made

103- There were a number of accounts of the assassination of President Kennedy ---------------
the official version of events.
1) despite the considerable difference between
2) as to differ from considering
3) which differed considerably from
4) that they were considerably different of

104- Detectives were watching the house when out of the front door ----------——--- in a black coat.
1) a man came 2) came a man
3) did a man come 4) a man did come

105- I decided not to go to the party for a number of reasons that I would rather ---------—---- ’
1) not to talk about 2) I did not talk about them
3) I do not talk about them 4) not talk about

106- The house would have been destroyed --------------~ the quick thinking of the firefighters.
1) but for 2) except that 3) besides 4) owing to

107- I ---=mmmmmmmeeee more pleased when I heard about your results - congratulations!
1) mustn't have been 2) might not be
3) couldn't have been 4) shouldn't have been

108- They queued for hours at the box office --------------- that the show was sold out.
1) perhaps discovered 2) only to discover
3) where discovered 4) and to discover

109- The Castle Road library has books on sociology, together with textbooks and other
reSOUrCes =--=======m=-nx secondary school subjects.
1) the majority of which relevant to 2) they are relevant and the majority of
3) the majority of them are relevant to 4) relevant to the majority of

110- Manufacturers of computers, for instance are able to import components from overseas,
--------------- to rely on a local supplier.
1) rather than having 2) as if they have
3) because of having 4) moreover have

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

111- Federal -----------—--- to grain farmers have helped them stay in business despite three

years of bad weather.
1) requirements 2) subsidies 3) conflicts 4) illustrations
112- Several local churches, mosques, synagogues, and temples formed a(n) ------—--------- to

promote understanding among people of different religions.
1) coalition 2) deviation 3) awareness 4) engagement



113-

114-

115-
116-
117-

118-

119-
120-
121-

122-

123-
124-

125~

Nathan Hale's -———-----=—----- statement has often been quoted:"T regret that I have but one
life to give for my country."

1) dejected 2) beneficial 3) patriotic 4) harmonious

Iam --—------ by new technology, and spend a lot of money on the latest electronic gadgets.
1) fascinated 2) extended 3) composed 4) predicted

With DNA evidence from the crime scene, the defense lawyer --------------- the police for
falsely arresting his client.

1) disclaimed 2) prohibited 3) enrolled 4) assailed

We're delighted at the results our students achieved. These results --------------- all our
expectations.

1) combined 2) inhabited 3) exceeded 4) proposed

Some illnesses are serious enough to require medical treatment, but for minor health
problems, a visit to the doctor is usually not --------------- .

1) descended 2) warranted 3) revised 4) dwindled

The members of the jury found her guilty because they found the facts of the case -------—---- .
1) subsequent 2) uneventful 3) reluctant 4) indisputable

Many men say that they are willing to share the -------------- of domestic duties, but I
doubt that they mean it.

1) burden 2) monarch 3) pension 4) surplus

All students received the appeal to be -------------—- and not to jump to conclusions in
judging the new grading system.

1) legitimate 2) temperate 3) prominent 4) defiant

Studies of landing patterns confirm that the number of collisions is increasing each year,
and pilots --------------- hundreds of reports of near misses.

1) transpire 2) persist 3) verify 4) occupy

Although I --------=------ the nationalist movement, I don't approve of the use of violence.
1) sympathize with  2) dedicate to 3) impose upon 4) scatter over

After months of complaining, we -------------—- extracted a promise from the travel agency
that they would refund the full cost of our holiday.

1) chiefly 2) sufficiently 3) eventually 4) dramatically
College basketball stars face the --=-----—----—- of wanting to graduate but being tempted
by high professional salaries.

1) predicament 2) enhancement 3) supervision 4) interference

One of the most beautiful -----====------ gardens in the United States is the wild and lovely
Magnolia Gardens near Charleston, South Carolina.

1) literal 2) botanical 3) retrospective 4) haphazard

PART C: Sentence Structure

Directions: Choose the sentence with the best order for each of the following series. Then
mark the correct choice on your answer sheet.

126-

127-

1) According to the people knowing him, he was as awkward as a person who working for him.

2) According to the people who knew him, he was a person who was too awkward to
work with him.

3) According to the people knew him, he was more awkward than any person working for.

4) According to the people who knew him, he was a very awkward person to work with.

1) I am amazed how much money some people to earn it.
2) How much money some people earn to amaze me.

3) It amazes me how much money some people earn.

4) It is amazing for some people how much money earn.
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128-

129-

130-

1) Blue-collar workers across the country are demanding improved working conditions.
2) Blue-collar workers across the country demand that working conditions improved.
3) Blue-collar workers who across the country demand that working conditions improve.
4) Blue-collar workers are demanding working conditions they improve.

1) Traffic congestion, one of the most pressing problems, which is facing cities today.
2) One of the most pressing problems facing cities today is traffic congestion.

3) One of the most pressing problems faced with cities today is of traffic congestion.
4) Traffic congestion is one of the most pressing problems face cities today.

1) That even small amounts of alcohol can affect your ability and drive safely is a

well-known fact.
2) It 1s a well-known fact that even small amounts of alcohol can affect your ability to

drive safely.
3) It 1s a well-known fact but even small amounts of alcohol that affect your ability to

drive safely.
4) A well-known fact it is that even small amounts of alcohol can affect your ability in

safe driving.

PART D: Language Functions

Directions: Read the following conversations between two people and answer the questions

about the conversations by choosing one of the choices (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

131-

132-

133-

134-

135-

136-

137-

A: Good afternoon, Kingswell Sports Club, how can I help you?

B: Oh, good afternoon. (131) -=----cammmmmmm if you could give me some information about
membership and facilities.

A: Of course. (132) ---——---mn-se-

B: Do you have tennis courts, (133) --------------- 2

A: No, (134) ------------—- we don't. We're primarily a golf club.

B: What about football? (135) --------------- you had a team.

1) T had to admit 2) I was taking it for granted
3) It's up to you 4) I was wondering

1) You are a great person. 2) What would you like to know?
3) Don't worry so much. 4) What are you talking about?
1) for God's sake 2) to be honest

3) for example 4) believe me or not

1) I'm afraid 2) I guess it

3) It's on the tip of my tongue 4) same for me

1) I insisted 2) I'd be most grateful

3) On second thought 4) I heard

A: You must've been exhausted after that work.
B: Yes, I was (136) --=----n-n-nmm-

1) on impulse 2) worn out 3) turned down 4) put off
A: They made Mandy repeat the test.

B: Good, (137) --------------- for trying to cheat.

1) looking on the bright side 2) it is for her to decide

3) it serves her right 4) she is due
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A: Do you want the windows open or closed?
B: I almost always prefer fresh air, (138) -------—----—- X

138- 1) come on 2) all right 3) on the other hand 4) if possible
A: Sam lost the race.
B: (139) ------=====mmm- He looked very dejected.
139- 1) I thought as much. 2) Excuse me?
3) I put a lot of time into it. 4) Made a good choice, did he?
A: She criticizes me, but not the others. It's not fair.
B: Yes, I think she's (140) --------------- you.
140- 1) making out 2) picking on 3) showing up 4) dropping by

PART E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

However difficult you find it to arrange your time, it will (141) --------------- in the long run
if you set aside a certain part of the day for studying — and stick to it. It is best to make a
weekly (142) ---------mmmmm- of your time, making sure that you have enough left for
recreational activities (143) ------==-m=---- 'with' yourself: reading a novel or watching a
television programme.

(144) -==-mmmmmmmmmmm , it is also advisable to consider (145) ----====e=---=- you have to do in
that week, and make sure that you (146) -------==-=---- the most significant tasks first, leaving
the easier or (147) ------=======n= of your work until later.

(148) -----m-=mmmmmmn a physical level, make sure that you have an area or space for
studying. Don't do it just anywhere. If you always study in the same place, (149) ------=------
a room of your own, you will find it easier (150) --------------- to the activity when you enter
that area. You should have everything that (151) -----=-=------- at hand.

Make sure that all the physical equipment that you use, (152) --------------- a desk, chair
etc. is at @ good height for you. If you use a personal computer, there are plenty of
(153) --=--moemmmmmm available from the government on posture, angles, lighting and the like.
Consult (154) -----==--====-- the typical student aches and pains.

If you are doing a long essay or research paper (155) --=------------ the use of library books
or other articles, it helps to keep details of the titles and authors on small cards in a card

box.

141- 1) take to 2) care for 3) pay off 4) get over
142- 1) instruction 2) allocation 3) promotion 4) reflection
143- 1) or simply to be 2) it is as simple as

3) and to be simple 4) whether to simply be

144- 1) Although part of your week's schedule ~ 2) As part of your weekly schedule
3) That is a part of your week's schedule ~ 4) Part of it is not only your weekly schedule

145- 1) the exactness 2) exactly because of
3) which exactly 4) exactly what
146- 1) attribute 2) conform 3) prohibit 4) tackle
147- 1) less urgent areas 2) areas of urgency less
3) areas less urgently 4) not as urgent as areas
148- 1) For 2) By 3) On 4) To

149- 1) accurately 2) considerably 3) preferably 4) marginally
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150- 1) to adjust mentally
3) since mentally adjusting

2)-that adjust mentally
4) than mental adjustment

2) in spite of your need
4) you need might be
3) no matter 4) such as

3) hierarchies 4) deficiencies
2) these until avoiding

4) these and avoid

2) which involves

4) it involves

151- 1) needs you
3) you might need
152- 1) however
153- 1) formations
154- 1) and avoid these
3) even you avoid
155- 1) to be involved
3) it is such involvement that

2) according to
2) guidelines

PART F: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Although "lie detectors” are being used by governments, police departments, and
businesses that all want guaranteed ways of detecting the truth, the results are not
always accurate. Lie detectors are properly called emotion detectors, for their aim is to
measure bodily changes that contradict what a person says. The polygraph machine
records changes in heart rate, breathing, blood pressure, and the electrical activity of
the skin (galvanic skin response, or GSR). In the first part of the polygraph test, you
are electronically connected to the machine and asked a few neutral questions ("What
is your name?" "Where do you live?"). Your physical reactions serve as the standard
for evaluating what comes next. Then you are-asked a few critical questions among the
neutral ones ("When did you rob the bank?"). The assumption is that if you are guilty,
your body will reveal the truth; even if you try to deny it. Your heart rate, respiration,
and GSR will change abruptly as you respond to the incriminating questions.

That is the theory; but psychologists have found that lie detectors are simply not
reliable. ‘Since most physical changes are the same across all emotions, machines
cannot tell whetheryou ate feeling guilty, angry, nervous, thrilled, or revved up from
an exciting day. Innocent people may be tense and nervous about the whole procedure.
They may react physiologically to a certain word ("bank") not because they robbed it,
but because they recently bounced a check. In either case the machine will record a
"lie." The reverse mistake is also common. Some practiced liars can lie without
flinching, and others learn to beat the machine by tensing muscles or thinking about an
exciting experience during neutral questions.

156- What is the author's purpose in this passage?
1) To introduce question types asked on different parts of a polygraph test
2) To explain the link between emotions and physical reactions
3) To cast doubts on the reliability of a particular type of machine
4) To criticize governments, police departments, and businesses
157- According to the passage, responses provoked by neutral questions --—--------—--—- .
1) are a baseline for measuring a respondent's further reactions
2) help incriminate respondents
3) are not as favorable as those caused by critical questions
4) do not reveal the truth unless your heart rate changes
158- The word "abruptly" in paragraph 1 is closest in meaning to ---------------
1) constantly 2) suddenly 3) gradually
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159-

160-

161-

162-

163-

164-

165-

According to the passage, which of the following statements is true about lie detectors?
1) They make all respondents respond more dramatically.

2) They cannot be easily operated by psychologists.

3) They put less pressure on nervous respondents than on others.

4) They cannot distinguish individual emotions from each other.

What does the author mean by stating "The reverse mistake is also common'' in
paragraph 2?

1) Both the guilty and the innocent are likely to make mistakes during a polygraph test.
2) Guilty people may be able to outsmart lie detectors.

3) Innocent people may give contradictory signals to lie detectors.

4) Practiced liars do not feel nervous at all during a polygraph test.

PASSAGE 2:

In the folklore of the Navajo people, it was said that frogs and toads fell from the sky
when it rained. The phenomenon that gave rise to this belief involved the spadefoot
toad, which remains dormant beneath the Sonoran Desert of Arizona, avoiding the heat
and drought for as long as eight or nine months. With the onset of summer
thunderstorms, however, the toads respond to the vibrations of drumming raindrops
and emerge, as if fallen from the sky with the rain, to begin their brief and frantic
mating season.

The male spadefoot sits in a muddy pool and fills the night with his calls,
attempting to attract a female of the same species. Once a female joins him, she may
lay as many as 1,000 eggs in the small pool of life-sustaining rainwater. From that
point it's a race against the elements for the young, who must hatch and mature with
remarkable speed before the pool evaporates beneath the searing desert sun, As the
pool grows smaller and smaller, it becomes thick with tadpoles fighting for survival in
the mud, threatened not only by the loss of their watery nest but also by devouring
insects and animals. In as few-as nine days after fertilization of the eggs, those lucky
enough to survive develop through each tadpole stage and finally emerge as fully
formed toads. After gorging themselves on insects, the young toads, like their parents,
burrow underground, where they will lie dormant awaiting the next summer's storms.

What is the main topic of the first paragraph?

1) How much harm summer thunderstorms caused for the Navajos

2) Why frogs and toads fell from the sky

3) What led to a popular misconception

4) A natural phenomenon that existed eight or nine months

The word "onset" in the passage could best be replaced by --------------- .

1) weather 2) heat 3) season 4) start
The author mentions "devouring insects" in paragraph 2 --------------- .

1) because they are closely related to tadpoles

2) as an example of a danger to young toads

3) to show that they survive the searing desert sun

4) in order to classify them as dangerous creatures

The word "they" in paragraph 2 refers to --------------- ’

1) toads 2) insects 3) parents 4) eggs
Which of the following questions does the author answer in the second paragraph?
1) Why does the male spadefoot establish territory?

2) How do tadpoles maintain body heat in the rain?

3) How many of the eggs eventually hatch?

4) What happens when moisture rises from the pool?
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PASSAGE 3: — - _ .
Military satellites are weather, communication, and observation satellites used for military

purposes. Some military satellites are called "spy satellites” because they monitor the
activities of other countries and send the information back to their ground stations. These
satellites can take extraordinarily detailed pictures of things on the ground, which makes
them a powerful tool for the military. For example, they can provide information on the
position of ships and aircraft as well as the movement of troops on the ground. Military
satellites are also used to ensure safe communications between ships, aircraft, and ground
stations. In addition to taking photographs, military satellites have also been used in
modern warfare to direct missiles and destroy specific targets.

Satellites are able to stay up in space because they move fast and because the
Earth's gravity keeps them there. Imagine tying an object to the end of a long string
and spinning it around in the air. The object will remain in motion as long as it is
moving fast and the string remains connected. If you stop or cut the string, the object
will fall. This is how satellites work. Sometimes they have problems and need to be
repaired. While this can usually be done from Earth by computers, it may be necessary
for people to go into space to repair them. If they cannot be repaired, they are simply
disabled and left to float in space forever. This is what is called "space junk."

It was roughly 50 years ago that the former Soviet Union sent the first human-made
satellite into orbit. The football-sized satellite was appropriately named Sputnik, which
means "satellite" in Russian. Spuinik 2 went up one month later carrying a dog named
Laika, the first animal to go into space. Since that time, hundreds of satellites have
been sent into orbit around the Earth and other planets in the solar'system with the goal
of collecting valuable information for people on Earth.

The author organizes the discussion of military satellites in paragraph 1 by -------------—- .
1) comparing weather, communication and observation satellites
2) describing the effects of technology on modern warfare

3) focusing on their functions

4) defining "spy satellites"

The word ""them" in paragraph 1 refers to --------------- ]

1) satellites 2) pictures 3) things 4) tool
According to the passage, satellites do not fall due to --------—------- ’
1) tight strings and the Earth's gravitational attraction

2) rapid changes in their speed

3) the Earth's movement in circular orbit

4) the gravitational pull of a planet

In this passage, what does the term "space junk' refer to?

1) Satellites in space made from junk materials

2) Unusable satellites in space

3) Satellites that have a short lifespan

4) Unrepairable satellites that are returned to the Earth

The passage states that Sputnik ------------—-- ‘

1) was the forerunner of man-made satellite

2) was the first satellite to carry a living creature mto space

3) helped man understand the solar system better

4) received honors from Russians around 50 years ago

0 @sanjesheducationgroup i iloyT slagygo 3T ol S JUIE
1493554z (S s b s U]yl ds o gan > (SLOUS JalS dalllas 3 ogdle w09 oo oy 5252 lulloglo 4

(www.sanjeshshop.ir sl o 3) .S a1y «om a8 amiud golis acgomxo ,1.45&.\»1?

. ke S A s wn R




